¥ O A& B OB

66 A 1 1 RICHK LI AFn 6 £ F 5 A B A TS I2 310 2 A DI v 2 Hifii £
T3 (RRBALR —RNOEB IOV TTHAE TiXe < &%) 1250 T, JROFMMED LB & &
60
Pk, BAEGEOEE LTARE 2@aEl L, YEEREAITRIO L, %8 1@zkE7T 5,

a6 4 7 H10H

T FErr MU IEKETN -TH19—12

KA S HAaRTARYE
R 5 B e ] | L [ E S T R
FEO fE—ER

ZiEE ERT MILRSEETSHET)IAE 2 3 0 & 2

K4 Rt/ il

&M hE

-1 - sz T EDT R



NAWA

it

THEX Sy« T - B - HH50 B B HAL & G = A H R (GBS
T8 HERE
(B 55 [ B )
= 1 4,277,784
TE T
= 1 310, 200
L
= 1 69, 800
1) W A7 vy b P REEAE 5,
000m3 A7
m3 250 279.2 69, 800
By ) -}
= 1 240, 400
EDav))-h 18-8-40 (%) 2w/ —-M&RIEIHY
e
m2 100 2,404 240, 400
Al T
= 1 373, 400
F=n" =V T
= 1 373, 400
F)E (HE - BIFE) FRAFRLEET A7 (20) AfiZE/E 50m)
m 1.4mPL E3. OmLL T
m2 200 1, 867 373, 400
Pk A& L
= 1 1, 056, 360
LI
= 1 1, 056, 360
7" VERA MU PU1-B300-B300
m 120 8, 803 1, 056, 360
TE R E L
= 1 1,201, 030
& EE L
= 1 79, 030

[ Amd R




Bl =%

THEX Sy« T - B - HH50 B B B B G = A & # R (GBS
& HEE T (BaE - A7) A1 HE R e S
m2 700 112.9 79, 030
Pk M s g i 1
= 1 1, 122, 000
R (N ) NVARE TR R O R
m 1,100 1,020 1, 122, 000
BRE T
= 1 1,183, 350
JEFEBRE T
= 1 1,183, 350
SN JEHT
m2 15, 000 57.73 865, 950
R
m2 15, 000 21.16 317, 400
% T
= 1 153, 444
RIEE T
= 1 153, 444
T8 HEHERE
(BE[R /A /3 R)
= 1 3,182, 775
E T
= 1 282, 280
L
= 1 41, 880
1) W A7 vy P REEAE 5,
000m3 A7
m3 150 279.2 41, 880
By ) -}
= 1 240, 400

-2- [ Amd R




NAWA

it

®

THEX Sy« T - B - HH50 B B B B G = A H R (GBS
D av))-h 18-8-40 (%) 2w/ —-MERIEIHY
e
m2 100 2, 404 240, 400
AfidE T
= 1 280, 050
F=n" =V T
= 1 280, 050
F)E (HE - BIFE) FRAHRIEET A (20) AfiZE/E 50m)
m 1.4mPL E3. OmPL T
m2 150 1, 867 280, 050
Pk A& T
= 1 880, 300
18V T
= 1 880, 300
7" VERA MU PU1-B300-B300
m 100 8, 803 880, 300
TE R E L
= 1 589, 030
& HEE T L
= 1 79, 030
& HEE T (BaE - A7) A1 HE R eSS
m2 700 112.9 79, 030
Pk MisR g i 1
= 1 510, 000
R (N ) NVANE TR R O R
m 500 1,020 510, 000
BRE T
= 1 1, 025, 570
JEFEBRE T
= 1 1, 025, 570

[ Amd R




Bl =%

THEX Sy« T - B - HH50 B FTRBAL % B G = A & H R (GBS
SN JEHT
m2 13, 000 57.73 750, 490
R
m2 13, 000 21.16 275, 080
% T
= 1 125, 545
RIEE T
= 1 125, 545
EPE T H R
= 1 7, 460, 559
B T ¢
= 1 1,228, 627
B ST ¢
= 1 120, 716
BUGERRYCER (K5 1)
= 1 120, 716
mER R (FiE L)
= 1 1,107,911
g
= 1 8, 689, 186
B E
= 1 4, 275, 160
B 5]
= 1 12, 964, 346
— R PR
= 1 2, 755, 654
T HAlik
= 1 15, 720, 000

-4 - [ Amd R




Bl =%

THEX Sy« T - B - HH50 B B B B G = A & H R (GBS
THE B 2 %8
= 1 1,572, 000
TG
= 1 17, 292, 000

-5- [ Amd R



